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QUESTION 1

What are two functions of bridging? (Choose two.) 

A. blocking 

B. aging 

C. listening 

D. forwarding 

Correct Answer: CD 

 

QUESTION 2

Referring to the exhibit, which two statements are correct? (Choose two.) 

A. R2 and R3 can form a Level 1 IS-IS adjacency. 

B. R4 and R5 can form a Level 1 IS-IS adjacency. 

C. R1 and R5 can form a Level 1 IS-IS adjacency. 

D. R3 and R4 can form a Level 2 IS-IS adjacency. 

Correct Answer: AD 
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QUESTION 3

Click the Exhibit button. 

Which two statements about the configuration shown in the exhibit are correct? (Choose two.) 

A. Two next-hop interfaces should appear in the routing table for the 172.20.112.0/24 prefix. 

B. Multiple equal-cost next hops are installed in the forwarding table for the 192.168.2.0/30 prefix. 

C. The route preference is the same for each static route. 

D. Only the selected next-hop interface should appear in the forwarding table for the 172.20.112.0/24 prefix. 

Correct Answer: AD 

 

QUESTION 4

Click the Exhibit button. 

You are implementing the network shown in the exhibit. You must ensure that all users can communicate with each
other. 

What are three steps that should be taken in this scenario? (Choose three.) 

A. You must specify the appropriate Layer 3 IRB interface under each VLAN. 

B. You must define all ports as trunk ports and include all VLANs as members. 

C. You must define all ports as access ports and include the appropriate VLAN as a member. 

D. You must configure a single logical IRB interface with an IP address for each of the three networks. 
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E. You must create a unique logical IRB interface for each network and assign an IP address within the appropriate
network. 

Correct Answer: ACE 

 

QUESTION 5

Which mechanism is used to share routes between routing tables? 

A. RIB groups 

B. routing instances 

C. forwarding instances 

D. filter-based forwarding 

Correct Answer: A 
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